1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23

24

25

26

27

28

29

30

#### BILL NO. S-17-09-15

SPECIAL ORDINANCE NO. S-\_

AN ORDINANCE approving CONSTRUCTION CONTRACT - GREENWAY PUFFERBELLY TRAIL FROM FOURTH STREET TO STATE BLVD. - RESOLUTION # 0010R - WORK ORDER #0010R - (\$602,651.50) between CROSBY EXCAVATING and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

# NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT - GREENWAY PUFFERBELLY TRAIL FROM FOURTH STREET TO STATE BLVD. - RESOLUTION # 0010R - WORK ORDER #0010R by and between CROSBY EXCAVATING and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for project will introduce a new route of bicycle and pedestrian infrastructure along North Clinton Street by constructing the Pufferbelly Trail, a 10-12 foot wide, 0.63 mile long asphalt and concrete trail on the east side of Clinton Street from Fourth Street to the Spy Run Creek and then crossing under Clinton Street at the Spy Run Creek and then heading north on the west side of Clinton to State Boulevard. The project also includes rest noes with park benches, warning signs, pavement markings, lights, pedestrian corssings, ADA ramps, retaining wall and drainage improvements. Contractor will prepare the trail for the Street Department to pave it.

involving a total cost of SIX HUNDRED TWO THOUSAND SIX HUNDRED FIFTY-ONE AND 50/100 DOLLARS - (\$602,651.50). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law. SECTION 2. That this Ordinance shall be in full force and effect from and after its passage and any and all necessary approval by the Mayor. Council Member APPROVED AS TO FORM AND LEGALITY Carol Helton, City Attorney 



### **Award**

To:

Board of Works

From:

Mario A. Trevino

Director of Transportation Engineering Services

Subject:

Pufferbelly Trail from from Fourth Street to State Blvd.

Resolution #: 0010R

W.O. #: 0010R

Transportation Engineering Services recommends contract be awarded to:

#### **Crosby Excavating**

Award Amount: \$602,651.50

CITY OF FORT WAYNE

Date:

Robert Kennedy, Chair

Mike Avila, Member

Kumar Menon, Member

Attest: Lyndsøy L. Richards

						best	bid column		
		Form 96 Non-Callusian A	Affidavit			X X			
			ancial Statement			X X			
		Street Barricado EBE Declaratio				X X			
		E-Verify Affidav	it			х			
		Addendum No. Addendum No.				x			
		Addendum No.	3						
				TOTAL:	\$561,766,50	TOTAL:	\$602,651.50	TOTAL:	\$729,905.00
						% over		% over	29.93%
Bid T	<b>Fabulation</b>					% under	0.00%	% under	0.00%
Proj: Bid	Pufferbelly Trail from from Fourth Street to State Blvd.		RES, NO.: W.O. NO.:	0010R 0010R		BIDDER:	Crosby Excavating	BIDDER:	Brooks Const.
Date:	08/30/17 ITEM	PLAN	E: UNIT	stimate UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
NO.	THEM	QTY	OWIT	Est (\$)	Est (\$)	(\$)	(\$)	(\$)	(\$)
	MOBILIZATION / DEMOBILIZATION	1	LS	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
	MAINTENANCE OF TRAFFIC	1	LS	\$35,000.00	\$35,000,00	\$45,000.00	\$45,000.00	\$79,374.80	\$79,374.80
;	CLEARING RIGHT OF WAY	1	LS	\$40,000.00	\$40,000.00	\$12,000.00	\$12,000.00	\$40,000.00	\$40,000.00;
	CONSTRUCTION ENGINEERING	1	LS	\$7,500.00	\$7,500,00	\$12,500.00	\$12,500.00	\$20,000.00	\$20,000.00
	WORK ALLOWANCE	1	ı,s	\$40,000.00	\$40,000,00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
	EXCAVATION, COMMON	1200	CY	\$25,00		\$22.00	\$26,400.00	\$80.00	\$96,000.00
	BORROW (INCLUDES BACKFILL BEHIND CURB) GEOGRID, BX 1200 (Include 12" Undercut and #53 Stone/	200	CY	\$25,00	\$5,000,00	\$38.00	\$7,600.00	\$50.00	\$10,000.00
1 8	RECYCLED CONCRETE) (UNDISTRIBUTED QUANTITY) BED COURSE MATERIAL, FOR SIDEWALKS (MAY USE	10	SY	\$12.00	\$120,00	\$39.00	\$390.00	\$45.00	\$450.00
9	RECYCLED CONCRETE UNDER WALKS) TYPE "O" COMPACTED AGGREGATE, #53 STONE (MAY	70	TON	\$27,00	\$1,890.00	\$50.00	\$3,500.00	\$60.00	\$4,200.00
10	USE RECYCLED CONCRETE UNDER TRAIL / WALKS)	1400	TON	\$26,00	\$36,400.00	\$36.25	\$50,750.00	\$25.00	\$35,000.00
11	TOP SOIL	320	TON	\$26,00	\$8,320,00	\$38,25	\$12,240.00	\$38.00	\$12,160.00
12	#1 or #2 STONE FOR SUBBASE OR EROSION CONTROL (MAY USE RECYCLED CONCRETE UNDER TRAIL)	400	TON	\$26,00	\$10,400.00	\$28.50	\$11,400.00	\$25.00	\$10,000.00
13	RIP-RAP WITH GEOTEXTILE	60	TON	\$60,00	\$3,600.00	\$41.00	\$2,460.00	\$50.00	\$3,000.00
14	BITUMINOUS MIXTURE FOR DEEP STRENGTH PATCHING	20	TON	\$120,00	\$2,400,00	\$267.00	\$5,340.00	\$200.00	\$4,000.00
	LINEAR GRADING	350	LF	\$10,00	\$3,500,00	\$13.00	\$4,550.00	\$5.00	\$1,750.00
		1180	SY		\$17,700.00			\$16.00	\$18,880.00
	REMOVAL OF CONCRETE			\$15.00		\$12.50	\$14,750.00		
	REMOVAL OF CONCRETE CURB	50	LF	\$25,00	\$1,250,00	\$21.00	\$1,050.00	\$12.00	\$600.00
18	REMOVE & RELOCATE EXISTING FENCE POST	1	EA	\$300,00	\$300,00	\$520.00	\$520.00	\$285.00	\$285.00
19	REMOVE EXISTING PAVERS	42	SY	\$22,00	\$924,00	\$24.00	\$1,008.00	\$30.00	\$1,260.00
20	STREET LIGHT FOUNDATION	2	EA	\$800,00	\$1,600,00	\$1,935.00	\$3,870.00	\$800.00	\$1,600.00
21	REMOVE & RELOCATE EXISTING SIGN	6	EA	\$400,00	\$2,400.00	\$285.00	\$1,710.00	\$191.00	\$1,146.00
22	REMOVE & RELOCATE EXISTING LANDSCAPE	11	EA	\$400,00	\$400.00	\$316.00	\$316.00	\$1,000.00	\$1,000.00
23	REMOVE AND RELOCATE 90° ELBOW (INCLUDES CONNECTION)	2	EA	\$600.00	\$1,200.00	\$33.50	\$67.00	\$400.00	\$800.00
24	CASTINGS ADJUSTED TO GRADE	9	EΑ	\$350,00	\$3,150.00	\$105.00	\$945.00	\$425.00	\$3,825.00
25	CONCRETE SIDEWALK (6" INCLUDES J-BOLTS)	490	SY	\$50.00	\$24,500.00	\$105.00	\$51,450.00	\$80.00	\$39,200.00
	STAIN, #4 BENT REBAR, ASPHALT PATCH & FULL DEPTH SAW CUT}	320	SY	\$150.00	\$48,000.00	\$139,00	\$44,480,00	\$150.00	\$48,000.00
			sy	\$120.00		\$110,00	\$1,870.00	\$100.00	\$1,700.00
	CONCRETE FOR COMMERCIAL & ALLEY DRIVES (8")	17			\$2,040.00				
	CONCRETE CURB TYPE III (INCLUDES ASPHALT PATCH)	800	LF LF	\$40.00	\$32,000.00	\$42,00	\$33,600,00	\$50,00	\$40,000.00
	CONCRETE PAD FOR REST NODES (6")	168	SY	\$70.00	\$11,760.00	\$95,00	\$15,960.00	\$80,00	\$13,440.00
30	CONCRETE TRANSITION PAD (6")	85	SY	\$150.00	\$12,750.00	\$109.00	\$9,265.00	\$110,00	\$9,350.00
31	CONCRETE BOLLARD	1	EA	\$250.00	\$250.00	\$1,300.00	\$1,300.00	\$350,00	\$350.00
32	CONCRETE RETAINING WALL	160	LF	\$145.00	\$23,200.00	\$145.00	\$23,200.00	\$125.00	\$20,000.00
33	CURB RAMP, TYPE "K"	32	SY	\$120.00	\$3,840.00	\$101.00	\$3,232.00	\$200.00	\$6,400.00
34	CURB RAMP, TYPE "A" MODIFIED	60	sy	\$120.00	\$7,200.00	\$98.00	\$5,880.00	\$200.00	\$12,000.00
35	"REPLACEABLE" 2'X5' COMPOSITE, WETSET, TACTILE WARNING SURFACE UNIT- BRICK RED	12	EA	\$250,00	\$3,000.00	\$325.00	\$3,900.00	\$105.00	\$1,260,00
36	REINFORCED RETAINING BLOCK WALL (INCLUDES 4" PIPE, STRUCTURAL BACKFILL & GEOGRID)	35	SY	\$320,00	\$11,200,00	\$535.00	\$18,725.00	\$550.00	\$19,250.00
	(RIB), BLACK, ESTATE 6' BENCH W/BACK - PORT/SURF. MT.	3	EA	\$1,300,00	\$3,900.00	\$1,485.00	\$4,455.00	\$930.00	\$2,790.00
•	HAND RAILING	50	LF	\$120,00	\$6,000.00	\$129.00	\$6,450.00	\$150.00	\$7,500.00
	ADJUST WATER VALVE/BOX TO GRADE PRECAST 30" ROUND INLET ( INCLUDES STRUCTURAL	2	EA .	\$90,00	\$180.00	\$235.00	\$470.00	\$100.00	\$200.00
	BACKFILL) 12" HDPE PIPE INSTALLED ( INCLUDES STRUCTURAL	1	EA )	\$1,800.00	\$1,800.00	\$1,550.00	\$1,550.00	\$2,000.00	\$2,000.00
	BACKFILL) 8" HDPE PIPE INSTALLED ( INCLUDES #8 STONE	105	LF	\$90.00	\$9,450.00	\$33.00	\$3,465.00	\$65.00	\$6,825.00
	BACKFILL AND PIPE CONNECTIONS)	460	LF	\$30.00	\$13,800.00	\$23,00	\$10,580.00	\$30.00	\$13,800.00

	I	<del>,</del>	т			T	1	1	
43	24" BEEHIVE CASTING	1	EA	\$350.00	\$350.00	\$390,00	\$390,00	\$250.00	\$250.00
	PAVEMENT MARKINGS, WHITE, THERMOPLASTIC, 24"					l			
45	STOP BAR	20	LF	\$7.50	\$150.00	\$10,20	\$204.00	\$7.90	\$158.00
	PAVEMENT MARKINGS, WHITE, THERMOPLASTIC, 24"							ĺ	
46	CROSSWALK (PIANO KEYS)	208	LF	\$7,50	\$1,560.00	\$9.75	\$2,028.00	\$7.40	\$1,539.20
	WARNING SIGNS (W11-1, W16-1P, W11-15, W11-15P, W16-			l i		l			
47	9P)	7	EΑ	\$100,00	\$700,00	\$390,00	\$2,730.00	\$245.00	\$1,715.00
			1	1					
48	INLET PROTECTION	4	EA	\$100,00	\$400,00	\$75.00	\$300.00	\$85.00	\$340.00
1	TEMPORARY EROSION CONTROL, PERIMETER	ļ	1						
49	PROTECTION	7801	LF	\$2.50	\$19,502,50	\$2.00	\$15,602.00	\$2.00	\$15,602.00
1			1	1					
50	TEMPORARY 48" CONSTRUCTION FENCE	1040	LF	\$6.00	\$6,240.00	\$6.75	\$7,020.00	\$2.50	\$2,600.00
1	HYDROSEEDING WITH HYDROSTIK OR EQUIVALENT	i		}	i				
51	POLYMER FOR EROSION AND SEDIMENT CONTROL	4800	SY	\$2.50	\$12,000.00	\$3.25	\$15,600.00	\$2.50	\$12,000.00
ļ	WP3 MIDWESTERN WET PRAIRIE MIX IN RAIN GARDEN	ļ							
52	AREA	550	SY	\$7.00	\$3,850,00	\$7.75	\$4,262.50	\$5.50	\$3,025.00
				] [					
	3C/6 THHN IN TRAY CABLE IN 1.5" HDPE BORE TUBE	100	LF	\$13.00	\$1,300.00	\$19.50	\$1,950.00	\$20.00	\$2,000.00
	3/4" RIGID METALLIC CONDUIT, #12 WIRE, AND MISC.			1					
54	FITTINGS	74	LF	\$15.00	\$1,110.00	\$15.50	\$1,147.00	\$20.00	\$1,480.00
			1	•					
55	J-BOX, 6" X 6", IN PLACE	1	EA	\$40.00	\$40.00	\$520.00	\$520.00	\$300.00	\$300,00
				. 1					
56	J-BOX, 4" X 4", IN PLACE	3	EA	\$30.00	\$90.00	\$495.00	\$1,485.00	\$100.00	\$300.00
				1					
57	RISER ASSEMBLY, 2" RIGID, IN PLACE	1	EA	\$500,00	\$500.00	\$775.00	\$775.90	\$200.00	\$200.00
58	REMOVE AND RELOCATE EXISTING T/C ASSEMBLY	1	EA	\$600,00	\$600.00	\$1,045.00	\$1,045.00	\$2,000.00	\$2,000.00
i			l			*****	A. 000 00	A-500 00	******
59	REMOVE EXISTING HPS LUMINAIRES	4	EA	\$150.00	\$600.00	\$455.00	\$1,820.00	\$500.00	\$2,000.00
	48W TYPE-5 LED T/C LUMINAIRE, IN PLACE	4	EA	\$600.00	\$2,400.00	\$905.00	\$3,620.00	\$2,000.00	\$8,000.00
	KURTZON VANDALL RESISTANT LED WALL PACK, IN	_				44 44 44	** ***	40.000.00	40.000.00
61	PLACE	3	EA	\$950.00	\$2,850.00	\$2,325.00	\$6,975.00	\$2,000.00	\$6,000.00
		_	İ		4/ 222 22	24.555.50	*0.070.00	A4 000 00	<b>A</b> D ADA AA
62	CONCRETE BASE, REMOVE AND BACKFILL	2	EA	\$600.00	\$1,200.00	\$1,035.00	\$2,070.00	\$1,000.00	\$2,000.00
					***********	A4 555 55	00 400 00	A4 888 68	<b>#0</b> 000 #0
63	CONCRETE BASE, 24" X 60", IN PLACE	2	EΑ	\$1,100.00	\$2,200.00	\$1,550.00	\$3,100.00	\$1,000.00	\$2,000.00
ا ا	3C/6 THHN AND BORE TUBE, REPLACE AND EXTEND TO				24 202 22	2005.00	04.040.00	A4 000 00	<b>60.000.00</b>
64	NEW BASE	2	EA	\$600.00	\$1,200.00	\$905.00	\$1,810.00	\$1,000.00	\$2,000.00

,

### **COUNCIL DIGEST SHEET**

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the **Greenway Pufferbelly Trail**, **State Blvd to Fourth St** award.

<b>RFPs</b>	Q,	RID	S
KLLS	œ	$\mathbf{DID}$	40.

Bid/RFP#	0010R
Awarded To	
Amount	\$602,651.50
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	7
Number of Bidders	2
Attachments	AWARD AND BID TAB ANALYSIS SHEET

#### **EXTENSIONS**

Date Last Bid Out	N/A
# Extensions Granted	N/A
lo Date l	

#### SPECIAL PROCUREMENT

Contract #/ID	0010R
(State, Federal,	
PiggybackAuthority)	
Sole Source/	
Compatibility Justification	

#### BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□No	If no, explain below	
If not lowest, explain	<b>NT/A</b>			

### COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amount from prior years For annual purchase (if available).	N/A
DESCRIPTION OF PRO	OJECT / NEED
Identify need for project &	
describe project; attach	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
supporting documents as	
necessary.	
- (15일) : 10일(19일) : 10일 (19일) : 10일(19일) (19일) : 10일(19일) : 10일(19일) : 10일(19일) : 10일(19일) : 10일(19일) : 10일(1	
- And African Control of Control of the American State of the Amer	
REQUEST FOR PRIOR	
Provide justification if	APPROVAL N/A
Provide justification if prior approval is being	
Provide justification if	
Provide justification if prior approval is being	
Provide justification if prior approval is being	
Provide justification if prior approval is being	
Provide justification if prior approval is being	
Provide justification if prior approval is being requested.  FUNDING SOURCE	
Provide justification if prior approval is being requested.  FUNDING SOURCE	N/A
Provide justification if prior approval is being requested.  FUNDING SOURCE	N/A
Provide justification if prior approval is being requested.  FUNDING SOURCE	N/A
Provide justification if prior approval is being requested.  FUNDING SOURCE	N/A

## COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL Greenway Pufferbelly Trail, State Blvd to Fourth St.

#### **Action Requested:**

Transportation Engineering Services is requesting approval of an award to Crosby Excavating in the amount of \$602,651.50 pursuant to Board of Works resolution 0010R.

Note: Crosby Excavating was the most responsive bidder among 2 bidders.

#### **Description and Scope of Work:**

This project will introduce a new route of bicycle and pedestrian infrastructure along North Clinton Street by constructing the Pufferbelly Trail, a 10 – 12 foot wide, 0.63 mile long asphalt and concrete trail on the east side of Clinton Street from Fourth Street to the Spy Run Creek and then crossing under Clinton Street at the Spy Run Creek and then heading north on the west side of Clinton to State Boulevard. The project also includes rest nodes with park benches, warning signs, pavement markings, lights, pedestrian crossings, ADA ramps, retaining wall and drainage improvements. Contractor will prepare the trail for the Street Department to pave it.